
Zehnerübergang Minus im Zahlenraum bis 20 

13  -   7   =      16  -    8   =   

13 - 3 - 4 =     16 - 6 -     = 

 

15  -   6   =      12  -    7   =   

15 - 5 -    =     12 -     -     = 

 

17  -   9   =      14  -    6   =   

17 -    -    =          -     -     = 

 

11  -   5   =      14  -    6   =   

      -    -    =          -     -     = 

 

18  -   9   =      17  -    9   =   

      -    -    =          -     -     = 



Freie Aufgaben – achte darauf, dass es über die Zehn geht! 
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